November 11, 2014

Learning Goals

1. To determine the equation of a line when given 2 points
on a line.

2. To determine the equation of a line when given 1 point
and the y-intercept.

3. To understand that the only information required for

the equation of a line is the slope (m) and the y-
intercept (b).

5.4 - Using Points to Determine the Equation of a Line

Key Ideas: You can determine the equation of a line in the
formy = mx + b if:

1. You know two points on the line, or;

2. One point and the slope.



November 11, 2014

Given Two Points

1.

Solve for the slope using the equation, m = »2=%
X =X

Plug one point in for x and y in the equation,y = mx + b
and solve (isolate) for "b".

Plug your calculated values for "m" and "b" into the
equationy = mx + b,

Example One
Determine the equation of the line that passes through

the points A(2 9) and Bg 13)

|. Solve for Hhe slope(m)
m= Ya-4Y.
Xa=X,
= 13-9
| =
i
-1

o
0
-t

2 Solve for"'k by P‘“ja":j m QTM‘-J.
=Y B(l,1>
y = "Hx +b (i l%f)

EY HMO“ U} ‘L' I'\‘{'D‘H\'Q eq/“
Y- x +[1
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Given One Point and the Slope

1. Plug the given slope into the equationy = mx + b as well
as the one point for x and y fo solve for "b".

2. Plug your value for m and calculated value for b into the
equationy = mx + b.

Example Two
Determine the equation of the line that has a slope of 4

and passes hrough the point (2. 6).
|. Solve for" " by plugglhj (N for ae Y.
lj,- mx+b
M= 4 (g\vm I oLuesirfoh)
6=4()+ b
b= (3 V\" b
-2=h
d. P‘“O Il\ M + “L' "\*D"l’k{ e:v\.

Y= X -
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Example Three
Ken's Kanine Kennel costs $71 for 2 dogs and $113 for
dogs. Julie wants to know the daily cost to bod

dogs. Determine the equation that describes the
relationship between the number of dogs and the daily
boarding cost. Remember to include what your variables

represent. 1od Dependend-
Xy

<D>en3fs) 2 It,;

\am e

[. Caleulate the slope.
m= "&'!o

x..'x‘
= 13-
5-a
» Ha
3
- |4
2. Sohe o by phuggnng 10 e -
"(3'.1*[) y=mx+b

43-
3. "“5‘“"1'\;' mo the eqp.
g Mx r 43
= cost
Vo e
4. Plug x=3 wip eqn + sohe for y.
Y= B)ry3
R

Complete: p. 290 - 292 #1 - 4, bac, 6aq, 7aq, 11.
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